Math 105, Mathematics & Music
Class activity – complete the Pythagorean Tuning system (only partially complete in the text)
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Note:

1. The fraction under each tone is the factor by which the base frequency must be multiplied to find the frequency of that tone in the given octave. For a tone below the base or above the octave, simply multiply or divide by 2 for each octave interval. For example, the frequency ratio for the A two octaves above the A shown in the diagram would be  [image: image3.png]


.  

2. The notations R1, R2, etc. and L1, L2, etc are as defined in class. They are included to emphasize the fact that the above tuning system can be based on any tone in the twelve-tone scale, not necessarily on C. We tend to use C for convenience, since it’s the basis for the standard keyboard layout, but we are not constrained to it. (For example, if we were to elect to specify the base frequency as an “A”, then R1 would correspond to “E”, R2 would correspond to “B”, R3 to F#, R4 to C#, etc.)
3. A variation on the Pythagorean tuning system includes L6 rather than R6 in the twelve-tone scale. This would give us an alternate frequency ratio for the note F#. 

